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PART -1 (1) (General Studies)
(2) (General Knowledge of State)
HET — (1) (A AETT)
(2) (TSI =T {HAT 7(1+)

1. Whoofthe following describes the officersof 1. frfeias & & foraet Atef et o fefit ferwe
vartous departments i Mauryamadministation F ATHIET SR 37 S| <l 9ui R 2 7
and their dl?ues ? &) A=
(A) Kautilya _

B) Kalhana B B

(C) Megasthenese (©) R

(D) Deosdorus D) fesiem

Who of the following Sultans of Delhi created frfafag @ 9 T q T g
the largest standing army paid by the State ? Safres v R freior foram o 9
(A) _GhiyasuddinBalban (A)

B)  AllauddinKhilji ®) >

©) Muhammad bin Tughlaq

© 1@

(D) Sikandar Lodi et )
Which of the following;r treaties was concluded e o) 3R HERIST Wil T8 &
betweeg the B'r'itish East India Company and frafifag & @ FR-d g E,g 7
Maharaja Ranjit Singh ? .
(A) Treaty of Lahore % A R A T
(B) Treaty of Longowal Q ®) AT Bl T
(C) Treaty of Ludhtana & ' (©) g & A
(D) Treaty of Amritsar \\ (D) R q
4. Who of the following w, g efirstpresident 4.  WRAE LA FHOG %y FTege freteraa 7 9

of the Indian Nation 8s ? e
(A) Dadabhai (A) e ARt
(B) Ferozsh ehta B) frRYorTE Ree

(C) Wyomesh Chandra Banerji (C) =AW Fvg St
(D) Gopal Krishna Gokhale (D) IO T Mg
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(D) Amravati

Who of the following was the pioneer of 5 amyfes wra # Fraferfga & A B iEHs
cultural renaissance in modern India ? m % O 3 7
(A) RajaRammohanRoy A T
(B) Dayanand Saraswati B) T T
(C) Swami Vivekanand ©) @ R FT =
(D) Ramkrishna Paramhansa (D) T TR |
Which of the following religious texts contains ¢ f=fifag & Brg EITﬁfEB 7Y & Y egi &
the gistof Vedanta Philosophy? ar PR 9
(B) The Upanishads ®) gqﬁq;{
(C) TheBrahmanas (C) ST )
2
(D) Dharmashastras D) @
Which of the following is not the school of 7. @ HA-T g He Sl Aeit T 37
Buddhist Art? .
TMER
(A) Gandhara Q
Y. . QY ® =
(C) Nagarjunkonda % © ”g %ﬁ%’l
&Q (D) 3TRTEdT

Who of the followmg \the author of
'Rajtarangini' ?

(A) Kalhan ’&

®) Barh@

(C) Medhatithi
(D) Vishakhadatta

8.

TR % o FfRad § A a1 )
(A) HEn
(B) «mHg
(C) werfafy

(D) FrmEEa
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9.  Which ofthe following is correct ? 9. PeAAFTER?
(A) Article 21 of the Constitution protects (A) Tt al-‘f@'q’ 21 wrfaTfere % HEt
the. individual against the executive ¥ frog e 57 TR T B
action |
— (B)Article 21 of the Constitution proteets ®) ;f%(%:n:{ :ﬁgi : 2 s el
the individual against the legislative freg H1 TRET R @
action © (A) kBT
C) Both(A)and (B L ‘
(D) None ofthe above . . i
10, weaTRET AT & ued A 7@ w
10. Inthe context of Sarkaria Commission, which At g 1
of the following is matched ? |
()  The Governor should be nominated by ® TeeZ T
the President '
(i) The tenure of the Governor should be (i) TRy ufkafefa & S TIfEg
changed
1 forgfts, Jeam= % wWEY |
Gi) The Govemnor should be appointed with St =R
the advice of Chief Minister 0
.
(iv) The Governor should not be active% () T H HEEET 6 A T fifer &
politics after his retirement Q alha TE & ey
(v) A person, who is de in the V) qzﬁzq%,aﬁgmaﬁgmwgf,qﬁm
election, should not b p omted asa ﬁ'g'rﬁ & Rram s =t
Governor
. @ O o @
@ O @ X&
®) @) ’\5 | ® @ @
©) @@ G O © (@ &
® v O O » W O
T %1 % ferd STg / SPACE FOR ROUGH WORK
8210/ME-JT/RCE-M [5] Set— A



11. If a bill passed by the State Legislattive
Assembly and Governor referes it to the

11.

Tfe T [G8gs Tsg Tamam grr wie & 9
3R T I gl P 9efifg w T, ar @

President, what will be happened ? 2T 7
(i)  President can't refuse to approve the () Uggia fomt frogs ) wield o O @R
- financebill T
() President can refuse to sign on the () TEul aemy Ries W R s a
ordinary bill S ey 3 a
(i) President can ;c?turn. the bill to Gi) Rl R 7 e 3 R
assembly for reconsideration : Roro AT o T R
(iv) If assembly passed the bill after recon- ) 2 Re
sideration, President can't refuse to sign () e R 3 %Bﬁ Elﬁg I
on the bill _ :{ﬁagr g, % TR RIS
(v) If assembly passed the bill after Sl i
o reconsideration, President can refuse to ) A e RS [EERERIILS)
sign of the bill % é;ﬁ 3, . %ﬁéqan-’uz BEATER
(vi) President can use the power of pocket : .
veto in this matter (i) W%WWWWE
@ o0 @ ™ O (A) 4 \(m ) )
B @ @ O W ) v ™)
© o @ @ O )< @ @ (V)
O© @ @ © ™ w @ w o
12.  Which of the following is included in Relic o % wEt § e 8 Qs
functions of General Administrati@ affrfera 2 7
.
Department ? @ AR N —
(i)  Functions about policy : ) o e
(i) Posting and services g @rative @ ’ SR TR
officers . (i) TR T hl Henet O watd Ry
@) To make rules abquiythe services of &1 femfor
Government .
(iv) HIHd
) Vigilen \ o
W O 9,
® 0 ® O @
© G G (i © O @® @
® O @ @ @) O O @ @ @)
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13. What is not correct about the transfer policy of 13,

the State ?
()  Every transfer will be approved by the
e

(i) Transfer order will be issued by the
minister

o i wTeRvl Hifer % fsr 7 R wel AE 87
G)  VeE SRR T gRT A B
() TRV ST F= gRT SR (e S
() TRl ST forsTmT Ry ST feran St

(iiiy—Transfer order will be issued by the
department

(iv) Departmental minister can cancell the
transfer order of an employee

@ o @
® O @
© @ @)
D) @) aGv)

Gv) frmlig met faelt e o mmRT
@ @O G

© @ W 0@

D) @) ) Q

@»w o

14.  Match the following — 14. aﬁ”\aq \ .
(a) Departmentof (i) Third Gender (a) o ) e o e A
Commerce and Welfare Programme oo
Industri
| (O ) ﬁwm (i) HeaTE We FRiwA
(b) Departmentof (i) Mid-day Meal _
social welfare Programme (ii) W k5l SRR
(c) Departmentof (i) Chief Minister Youl RIS
Panchayat and Self- employment srréa e Farm (iv) TEFAAT e DR

Rural Development  Plan
(d) Departmentof

(iv) Prime&r
School Education  Yoj a&
@ ® © *&\
*
A @ () Qm)
®) @) QQ \’%’ (i)
© @ @Y O (v)

O G O @

(ahon

@ ® © @
W H @ 0 @
® @& @ O @
© @ @ O @
o @ 6 @ @
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15. Between 2001-2011 population growthrate 15,  200]1— 2011 § YR | SEE gig @ off

in India was —
A 17.83% (A) 17.83%
B) 21.43%. (B) 21.43%
(C) 23.50% (©) 23.50%
D) 18.73% D) 1873%
16.  Which place is famous for diamond ? 16. &R forg wg @
(A) Latapara. (A) SEOR
(B) Paylikhand B) ulETE
(C) Narharpur C) TER @
(D) Sonakhan ) dHEE .
17.  There will be rains i.n the winter in the 17. WRa W—% } ehdene & auf 5 2 -
north -west part of India by — R
(A) Returning monsoon (A) Gy
(B) Western depression (B) GRS
(C) Tropical cyclone ( Tl wghera o
(D) None of the above ) W?:T'F 7Y AE T

18.  Which of the following is correct about t 2011 % VAT YA R ehl FeR SR TR
maximum literacy as per 2011 census of Idi % R - Y

(A) Maharashtra and West Bengal (A) HENTE 3R Yo T

(B)  Tamilnadu and Punja@ (B) dfieTg 3k daE

(C)  Gujaratand Kam t\ ‘ (C) T 3R wAlcen
(D) Keralaand Mizo; D) H 3R e
19. Whatis green goldQ ¢ 19. &1 QA F|=0 %?_
(A) Teaklea ) (A) | T T
(B) Salleayes (B) 9@ U=
(C) Tenduleaves (&) ﬁQW
- (D) None of the above . D) ngﬁ H A RE T

% w1 % fordl SoTE / SPACE FOR ROUGH WORK
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20. Whatis "Tata Pani'?

AT R 7

20.
(A) Lake (A)
(B) Marshy land (B) cefadd
(C) Fountain of hot water (C) " ul @ R
(D) None of the above D) Iﬂﬁ%ﬁ 9 RE
21 Minimata and itai-itai diseases are due to 21, ffmEIwd ZaTS -2ars U s Zifeaed & e
toxicity of — e 7
(A) Mercury and tin (A) Wl v feA
(B) Mercury and cadmium B) R Td HeloH
(C) Mercury and lead (C) I T e
- D Mercury and iron D) W T ARRA
22.  Matchlist-I with Iist -Il and select the correct 22 Tl - [ g -1 q o @i
answer using following codes : TEEET ¥ TE I i
List-I List-I1 -1 -1I
(a) Flatfootdisease (1) Polychlorinated S TR
biphenyl (PCB) @ W{ s iR (PCE)
(b) Thyroid cancer (2) Strontium-90 ) @: @) ThmEm-90
(c) Skindisorder (3) Iodine-131 © ' 3) FTEEE-131
(d) Bone cancer (4) Arsenic FIER (4 TOFE
(e) Osteoporosis (5 Fuorine Q < ) TR
e » O @ ® © @ ©
w4 3 1 2 3 @A 4 3 ,1 2 =5
@) 1 3 5 2 @ B) 1 3 5 2 4
) 5 2 I 4 (C) 5 2 1 4 3
D) 1 2 3 5 (D) 1 2 3 4 5
23. CFClzis responsible for Q%uposition of 23. CFCl, SN o e H formrea % for Seradt

A) CL
B) CI7
© d
(D) ClO

ozone to oxygen. he following
re-acts with OZOAKN xygen ?

3| P B o e @ B R st
AT B 7
A

® -
© Cl
(D) IO

6 %14 * fd w1 / SPACE FOR ROUGH WORK
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24.  Consider the following statements regarding ~ 24. ¥ #R Jed & ded # f #od w® e
motorcar battery : SN -
1. Thevoltageisusually 12V. 1. e aWRIE: 12V g |
2. Electrolyte used is hydrochloric acid 2 mgﬁ T I ﬁaﬁ HUE
3: Electr(.)de.s are of Iead. and copper. 5. DR AT H WA |
e Capacliy iveapressed fnawmpere-hos, 4 @Ha %) e % v § e e S |
Correct statements are— T
(A) land2 (A) 13R2
(B) 2,3and4  B) 2,334
(C) 1,2and3 € 1,23%3
(D) land4 DO) 13R4
25.  Whichoneof the following is the anothername 25, F= 7 @ H4 @& THE 7
of RDX? - :
(A) Cyanohydrine @ .. € )
(B) Dexiran | L. *
(C) Cyclonite W (@
(D) Cyclohexane (
26. Consider the following : ; R ferem Hifsw
Asserti.on (A): Information t-echnolog}'/ i§ fa.st SRR (A) : TR & T M adas &
Ib;;a(;cznmg a very important field of activity uQ W D |
Reason (R) : Software is one ot FT (R) : SN % T TR o qe frefa?
export of country and India isg velystfong qUT TR T TIH e | jtecey 2|
base hardware.
Chooe the correct option ’\\ i ﬁw ?fﬂ\: .
(A) Both A and R apeegriebt andR is (5 aﬁA\ﬁRR@%WR’AZﬁG@
correct expl Qﬂ\ FRAT % |
(B) Both XC rrect but R isnot a B) T A $R R T § WG R, A B T
correc ationof A T 78 8 |
(C) Adiscorrect but R is wrong (C) ATEE RTETR
(D) Aiswrong andR is correct D) ATEdE RASR

T w1 % fold S8 / SPACE FOR ROUGH WORK
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27. How much amount is saved till 6 November, 27,

2017 under Direct Benefit Transfer Scheme
by States ?

(A) ¥52737.32Cr.

nﬁrmw&ammm%mﬁﬁ 6
IR, 2017 T Free Tk St awa B T e 7

(A) T 52737.32 %8

(B) %.57000Cr. B) T 57000 FRS
(C) % 1557Cr (€y—=< 15 5T
(D). None of the above D) gqqi—a # 3 % 7

78, Which statement is not correct at end June 28,

2017 state of born Indian economy ?
(A) Short-term debt jumped 8%
(B) Long-termdebt jumped 1%

(C) India's external debt witnessed an 1.3%
over the same period a year-ago

(D) None ofthe above

29. How many rates are fixed under GST in 29,

India ?
A 3

®) 4 | - O
o)

(D) None of the above

30. What was the target of De (@on ofbig  30.

currencies in India ?

@A) To eradlca@\oney
B) terteits

(C) To spur digital payments

(D) alltheabove

2017 S 3 o H Teufer § -1 e W
odfeaan 3 @y § 9l T T

(A) STGHEE %01 H 8 & afg
(B) drEHwElE mﬁ & 9fg

€ W e 7 A
% I®W 13 & afg

D TRy e

e & T2 A i Rt H wn ded A
(A) T U i THTH FHA

(B) el TGT B AR A

(©) fesfies FRM Fi TGN T

(©) HE
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31. Which statement is not correct about . TerggieRor TR e a;'{:{z{aﬁ[zﬁq_m iR
Demonetisation and Black Money ? Rk,
(A)  1-77 million suspicious cases are ]
registered (A) 1.77 Tofersm wegrees veor oot iRy 1
(B) 17000 shell companices are under watch €
(C) 3-32 million bank accounts are (B) 17000 I FFIFFT e vedrel | &
nvotved N . 4 :
i (©)  3-32 WivE e @i gefed 3
(D)  1-12 million people have responded to ' .
queries (D)  1-12 Wfera &im St veaier 3 vedv frr
32. Where will “Logistic Park” be made in 3 ‘“guamer % smls ‘S aeiTe &
Chhattisgarh under “Bharat Mala™ ? e T S ) '
(A) Raipur A) T
(B) Rajnandgaon (B) UsHia .
(C) Bhila ' () e
(D) None of the above D) ® e &l
33. During the Civil Disobedience Movement in 8. 31?’ IS 3TN 3 o Fefefaa
this State, at which of the following place the F 3 = o
, STE R T e waw
tricolour was unfurled on the Town-Hall ? ] '
(A) Raipur i v
(B) Durg Q
S N 0 ® 3
(C) Bilaspur ©) m
(D) Dhamtari (D) ewed
34.  During the Quit India Movcme tate 34, 349§ IRG DIE aﬂ‘cﬂi;l?f & ERF 10 3T,
under the leadership of who llowmg 1942 g 3 P 3 s g &

a large procession of stude &as taken out
at Raipur on 10 August

(A) Kamal Nara a

B) Treta

(C) Ramkris akur

(D) Ranvir Singh Shastri

ferenffal =1 v feremret o fremten T o 9
(A) HHEA TR I

B) e e

(C)  UHFST 3R

D) iR fe el

T % % fort STg / SPACE FOR ROUGH WORK
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Inwhich of the following zamindari in this State, ~ 35. =0 U9 1 ftaiaa 3 A forg e # wHier

'Thara' metal art is related to whi _
following region of this State ?

\

(A) Sarguja *

*
(B) Bastar \\Q
(C) Raigath Q
(D) Raipur

35
a peasant movement took place in 1946 against 3 AR o foreg 1946 H ferd 3R g3l 7
the atrocities of the zamindar ? ‘
(A) A
(A) Chhuikhadan
(B) sl
(B) Khuji N
(C) Panabaras (C) UFTERY
(D) Daundi-Lohara D) & AN
36. Dular Singh Mandaraji of this State isknown 36 =g qsg % W e et 33
as the promdter of which of the following AT 5 E@m R 9
folk-dance? ()
@ w
(A) Panthi Q\ ¢
B) Sua ®) Q
(C) Karma Q
(D) Nacha ¢ 0 )R
37. GRY SR 29 WS % Frftea § A fR

A EERE R 1
(A) T
B) H
(©) =T

(D) IR

3% F1d % fod sTg / SPACE FOR ROUGH WORK
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38. Which of the following is the meaning of ~38. %9 ¥ < RN “BTell theAT i a1 et

saying ‘Chhati Phantana’ of this State ? AARE 7
(A) Unbearable | (A) TE T8 B
(B) Committing atrocity | (B) AR Sl
- ) Tobe jeatous— (Cy <5t &

(D) Tochallenge - D) ﬁ?ﬁ =<l

39.  Who of the following Anthropologists has 39, ffufiga & & R Tacafa 3 =q w9 &
written a studied account of the 'Ghotul' of e ST & HET—I TR Ueh eI feeRoy
Muria tribe of this State ? IGCR,
(A) EdmmndBunt A wEEE @
®) E.T Dalton | ®) fod
(C) VerierElwin (@)} F )
(D) Vincent Smith . @fi&m

40. Regarding Jnanpith Award, which of the % RERR & IR Frferiaa 7 Q-
following pair is correct ? R '
(A) Shankha Ghosh-2016 69 (A) TG Y - 2016

(B) TR = - 2014
(C) g AHTe — 2015

(B) Raghuveer Choudhury - 201%
(@) Balchandra Nemade: Q
. (D) Sito T PG — 1961

(D) G.SankarK
41. “Rafflesia Arnoldii”ds Conilected with which  41. (FIRmET oFicd fRg ST S Gaf@ 2 7

of the following ¢ 3 . ‘
. (A ?@lﬁm'
" (A) Indon%' @ ‘

(C) South Korea (C) gfetor aifen
(D) None of the above (D) 9YE H @ FHIE T

% & & ford 18 / SPACE FOR ROUGH WORK
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42.  Which of the following is not true about Majuli 42 #igeft g0 ST AE R ]
Island ?

(A) ltisin Assam (A) U8 3f49H il

@B) Itis the first Island district of India (B) % WA I WA g el 2

(C) e TR T wRedt o forg R e

(C) Union Government has launched a

scheme for protection of the Island TR 8
(D) None of the above D) B'ngﬁ H Y HE T
43.  Which of the following players capta.ined 43, 3FeR-19 o Hio o W e ;ﬁ:
&1231;11% Iél;hza(r)ll"léeirn for under 19 ICC Cricket WFIFﬁ Sra B 9 ()0
(A) ManjotKalra (A) I w N
B) PrithviShaw ®)
(C) UnmuktChand ¥

- O% wivai=

- (D) Noneofthem
44. Indian Mouse deer was found recent, @1 T 8§ AR SR e @ o | el gl
of the following place in this St ' T 9 _

(A) Forestof Surguja dist;ic\\ PR PG
B) Forest ofBa@ ‘ &) S
(C) Forest Mand district (©) e frd
(D) Forest of Kwardha district | I ¥ U G

<& %1 ¥ ford 9w / SPACE FOR ROUGH WORK
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45. Naina Dhakar became the first girl fromthis 45, 31 ehe 3 T 1 v =niforent =it e fer
/ State to scale which of the following peaks ? W R WA W R )
T K2 (A) *-2
(B) BhagirathiIl TS
(C) MountEverest | (C) IS TRE
(D) None of the above D) ngiﬁ; A A hiS A8
46. Fenny is a chashew liquor commonly produced 46. ot Wﬁﬁ? e @ﬁ FafE E 9
-~ inwhich State ? 0
(A) Karnataka i Tg’
B) Gujarat (
(C) Bihar foem \
(D) Goa | | _ . QQ (D) e
47. Chief Jl:l.StiCG-Of Ipdia who remai 47.  IRE % PA-Q T I T R O
period in office is — & = frm 7
(A) SudhiRanjanDas \\ (A) ﬁ”?ﬁ 5 <
B) Bhuvan%@asad Sinha B) TR TR R
(©) ad Hidayatullah (C) e fEPTg@T
(D) AjitNathRay (D) :ﬂsﬁ

T &R % fordt STg / SPACE FOR ROUGH WORK
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48. Martina Hingis is of which country plays 48, aifEn et & g e @ afgen Ry =

’Il\}lairrm;s{)Women Doubles Match with Sania e el T fif fra %ﬂ Ry
za ]
(A) Spain @ @
B) Begum (B) dfeaam
(C) Switzerland (C) whieewrets
(D) Serbia . (D) dfdan
49. Madvur Vasudevan Nair was connected with 49, TER AGCA AR o @ﬁ? g9
which dance ? _ 0
w O

(A) Kathall< ) \ 2
B) Kathakali ' ® &
(C) Kuchipudi @W

Q ©) THEEHA

(D) None of the above ¢
50. Who is the Chairman of Se @50. e S HTENT T AT A 2 7
Commission ? \< ’

(A) Justice A.P. Shah 0\ (A) R o o e

2
(B) Justice B. a ®) = Fo To g
(C) Justice AX.Mathur (C) =t o o AR
(D) Justice B. M. Shah R v

T % & &l s01E / SPACE FOR ROUGH WORK
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PART -1II (General Knowledge of Computer)

- — II (FFeX mm?a SEER)
51. Which of the following is an invalid video B Sm-a1 o afed W (fafe
resolution ? e
(A) 640 x 480 (A) 640 x 480
B) 800 x 680 (B) - 800 x 680
(C) 1024 x 768 ) (C) 1024 x 768
(D) 1152 864 D) 1152 x 864
52. The term 'software' was first used by — 5. ‘WIRAER YIS T SuA wee fohe foar o 9
(A) DennisRitche | A) mt= @
(B) Winston Turkey (B) ﬁR’fT Q
(C) Ronald Duking
(D) JohnW. Tukey . (Do
53. Hyperthreading is supporced/perfonned by - aa o @ng?}%r[ T ae /v TR
(A) SystemBus
N \Q (&) ﬁw -
(B) Central Processing Unit PY 0
L % ®) ez AR afe
. (. ) (C) 1 (ROM)
(D) HardDisk & O) =R
54. The computer does not %tr slator to ST <Rl THEH & g B G A
understand and ?ﬁ e A5
(A) highlevel &Q (A) gg T (T o)
®) m@m ®) e i
- (C)  machine © W
(D) assembly . D) e

- w1 % o 3718 / SPACE FOR ROUGH WORK

(18]

Set —A




The IBM Automatic Sequence'Controlled 55. aTzo Ho WHo, wEIta aﬂgﬁqﬁaﬁaw

B Calculator (ASCC) is called — _ & P T -
(A) ENIAC ' | (A) ENIAC
(B) MARKI (B) MARKI
(C) Analytical Engine - (€ A S (REeTeTs 39)
(D) UNIVACI . © UNIVACT
56. Afanisattachedto in a computer system. @@H@g@r@m% |
(A) RAM
®) VDU , 0@
(C) ROM ,
O) CPU
57 Whichdevice hasacylindrical drumealled pho- 57, » o SR g g 3, R
toreceptor ? - () Hl?ﬂ% 7 e
(A) Digital camera
(B). Scanner N | ,
(é) Inkject Printer ‘ @ ©) e fiex
(D) LaserPrinter & i (D) KK fiix
58. The Golf Ball Printeris a * \ ' sg. ew e FE ) W

(A) Lineprinter \Q ' ‘ (A) & fiex
B)" Laser[w B) R T

(C) Daisy wheel printer . _ (C) it fegar Tt
(D) Petal printer @) frea i

T F1 % Tt 518 / SPACE FOR ROUGH WORK
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Which of the following is not a free operating

59. 59. T H ¥ -1 T T SR R S
system software ? 9
(@) MySQL (A) T TER
®B) Ubunu ®) ¥
(C) Syllable Desktop (C) e Teweta
(D) Kubuntu (D) m
60. Which of the following is not a version of 60. AT RT-T RS 7 TR Rreen areeder
Windows 7 operating system software ? 51 T T 7 ¥ 2
(A)  Ultimate (A) e
(B) Professional B) TFS
(©) Maximum © k)
(D). HomePremium D) wu
61. After booting a computer with Windows 61. B Ren o HFIR @l T HA
operating system isdisplayedonthe S Gh W 7eRia 2T & 99 oY o =
screen after you log in. 5
(A) Icon Q (A ST
(B) Folder . 0 B) w
(C) . Desktop % (©) m
(D) Logo Q (D) < (e forg)
62. In MS Word software, whenV§12 key is 62. THo Tho T¢ GFIR ¥ F12 927 ed ®
pressed then— ‘

(A) SaveAsDi

(C) Open fileDialogue Box is opened

(D) Current Document is closed

(A) Save As T e (TG F) Gorat
[

(B)  Save SHN T (TG A1) AT &

(C) Open file THAT 47 (FaTE arRT)
g g

(D) Current Document (J0HH SARWT) &c
RESISIR

Th & % Tl S8 / SPACE FOR ROUGH WORK
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63. MS Word software provides margins 63, UHo UHo IS RN T U Y afén ¥
for setting of a page. R e AR |
(A) horizontal and vertical (A) A ik SR
(B) topandbottom |- B) TW IR A=
B (C) leftandright (C) ¥ 3R M
(D) top, bottom, left and right . (D) W, i, 9 Sﬁ? | R
64. The equipment needed to allow home 64. Home computer ﬁmﬁm A h %‘Q
computers to connect to the internet iscalled—. ... ITEFRUT Y SR Bt 2 |
(B) gateway (B) gateway :
(C) 'monitor (C) monitor @
(D)  peripheral (D) peripheral 0
65. Searchengines are used to— 65. et d 3 B
(A) search video *) .
se. 0
(B) searchdocument ®) N ent
(C) download software ' ( oad software
(D) Alloftheabove i
66. To join the internet, the computer has to be . .
connected to a — o H it 8 o forg, R ... H e
(A) Internet architecture board % A e |
B) Internet society _ . (A) Internet arc}.utecture board -
: : 1 (B) Internetsociety
(©)  Internet service provide (C) Internet service provider
(D) None of the above \ ~ © PR
. . )
67. Computer virus progrags U ally hidden ¢4 W AT TR T ... # Ry B
ina/an — & 3 I
(A) Operat] _
) (A) Operating system
(B) Applicats gram ®) Applicati
S pplication program
C) Harddiskdri
Q) T st drves (C) Harddisk driver

T FT4 % fo e / SPACE FOR ROUGH WORK
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68. Which of the following is asoftware thatonce 68, FrafiRad it & -a1 TTFR Th TR TTH
5 il DR L e e A S N
containing advertisements related to the sites 1 track % STH G visited sites SR topic
and topics you've visited ? Tt fergmoe amohr 3R Ao § |
(A) _Backdoors (A) _Backdoars
(B) Adware (B) Adware
(C) Malware (C) Malware
D) Bots D) Bots
69. is the action of recording the key struck .69. __________ HWER ® ¥ keyboard W
skeomt ity eyl 5 ot RN k=
actions are being monitored. ST F ST Bl § o )
(A .Denial‘ of service i Z‘I‘iﬁ ZF@ R
‘ , (A) niak of service
| (B) Keylogging ogging
(C) Exploit ® loit
(D) Scam ) Scam
70. A smaller version of an image iscalled a— Q 7 Image %1 BIeT ¥ HESAAT & —
(&) clipat s O (A) clipart
(B) bitmap % (B) bitmap
(C) -portable network gra@ (C) portable network graphic
(D) thumbnail \ (D) thumbnail
71.  Moving Picture Exp (&p (MPEG) is used 71.  Moving Picture Experts Groups (MPEG)
to compress — hd -l 1 HIY A H ST BT B |
(A) Fr \& (A) frames
®) Inj& (B) images
(C) Audio (C) audio
(D) Video (D) video

& % % for@ w918 / SPACE FOR ROUGH WORK
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73.

i

72. Before audio or video signals can be sent on 72: gqﬁg ¥ audio AT video sxgnal pirc e ie) trgé
Internet, they need to be — e wgmeSd R TEEEY |
Gy Chapeices (A). Chanelized
(B) Managed ®B) Managéa
(©) 'Digitzed (C) Digitized
(D) Organized (D) Organized
A hard disk is divided into tracks, which are 3. U EEF = trag;ks # fprfva Gar B, <0 g
furthersubdividedinto— - 3§ wﬁmﬁﬁ | R
(A) Clusters (A) ‘ Clusters
(B) Sectors ‘ “(B) Sectors = ;
(C) Vectors (C) Vectors. Iy @ :
(D) Heads / (D) Heads :
74. . Which among the following is odd ? 74. ﬁ::[ P ;qal; %
(A) CD/DVD ' A) DM, * ,
(B) Floppy disk ®) / ,
(C) SDdisk (C
() BIOS _ oS
75. A floppy disk contains — R 6 V e A A2 —
@) Circular tracks only % (A) T circular tracks
B) Sectorsonly Q B) Tk sectors
 (C) Both(A)and(B) « (©) (A) 3R (B) S
(D) None of the above \ D) | I-If@?ﬁ T q R TRl
76. The process of copying D-ROMis 76. CD-ROM# q?réa Gl EFR%T & ‘;lﬁ«ﬁm ATl
known as — Q 32—
(A) (A) Buming
®) lepmg (B) Zipping
(C) Digitzing - (C) Digitizing
(D) Ripping (D) Ripping

5 w1 % ford Tg / SPACE FOR ROUGH WORK
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7. Whichof the following isapaymentprocessing 77, Frfefiae # & BF-8T Google F payment

system by Google 2 processing system @l
(A) Paytm | ’ @) "Pagiin
(B) Checkout (B) Checkout
() Code (C) Code
(D) All of the above . - (D) Swad
78. “Which of the following is an example of web 78. ﬁﬂ%ﬁ@ﬁ T A % web browser %l &gl
browser ? _ 27
* (A)  Yahoo (A) Yahoo ®
B) Google ( Google O "
(C) MozillaFirefox ©) Mou(’afox
(D) AltaVista - . (D) Vista |
~79. Wthh 1san1nstant messenger that is used for 79. IUTT B ATeTl instant messenger
_chattmg" - 9
(A) Googletalk Q (A) Googletalk
(B) Altavista I 0 (B) Altavista
(©) MAC @ . (© MAC
(M) YouTube /<Q = (D) YouTube I
80. creates a bar&dbetween your 80. ... am%a HAACE 3R @t gﬁ'&T % 9=
computer and outs S wolld. ST SeH HRAT B |
(A) Firew ’\' (A)  FRE
B) Ne\@i : (B) +Aeafet
©) Intwanet © T
(D) Internet (D) e

‘ T FR & fordl w9TE / SPACE FOR ROUGH WORK
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PART - I1I (General Mental Aptitude)
_ _ HIT — 111 (YT AR )
81. Inacertain code language ‘324° means ‘light - g1. ferelt e 324’ &1 HaeE ¢ ‘TR THHRGR

is bright’ ; 629° means ‘Girl is beautiful” and
¢4758° means ‘I prefer bright cloths’. Which -
digit means ‘light’ in that language ?

22 629" % TaEE ¢ TR GX ¢ AN 4758

o e T TR R Wi’ 9 A A

‘weTeT % fore - ST R 7

A3 '
© 7 ©) 7
® 9 ® 9

82. }I;Iow many rectangles does the following fipure g fymifea R & fore eTa 2 7
ave ? ' .
A) 10
A) 10 ®) 12 .
® 12 © 1%\ ’
©) 14 Q
® 9 |
83. A shdpkeeper uses a code OLISPAH =28 @ T OLISPAH =28
where R Q HIE I ST Heell B, T -
o : % 0=21
L \Q L=22
and so on. ,\“
What is the price of a@b narked SOIL? gzam;f? g e w feren & SOIL T
3 =1 2t ,,-

(A) i \& : A T12
®B) 10 B #10
©€) %6 e
®) T8, D) T8

v %W % frd 1% / SPACE FOR ROUGH WORK
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84. Choose the correct answerinthe third figure: - g4.  dwR fomr & ol T T gﬁp} .

1o 27 39 I Nk B 39
70@30 1134 4634 703‘0 11,@34 46@34
53 Vg e Py 58 9 25
@A) 17 17
(B) 12' P B) 12
©) 15 & o © 15
D) 18 | ®) 18
85. What will be the next term in the following 85,  fm=fafga soft & awrem ,\ '_m—@m 9
SEhs | DCXW, FEVU, HGT,
DCXW, FEVU, HGTS, ?
- (A) LKPO 0
(A) LKPO | » C)
B) ABYZ _v : B) ABK <
© IIRQ ,. ("C)él% y
(D) LMRS | Oy |
86. How many squares does the following figure 86,6 ﬁqﬁ%ﬁaﬁ%?
contain ? ' @
O

&

< |
(A 27

) 27
®) 25 \éiv\' A ®) 25
) 22 | © 22

<
(D) None of the above ) (D) E'C@ﬁ T ®E TG

T FA % o 518 / SPACE FOR ROUGH WORK
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A wooden cube is painted BLUE on all six

T TR W W B B (faces) § A A

87. 87.
faces. The side of this cube is 4 cm. It is cut de T A T2 Rrar o | sy ou e
into smaller cubes of side 1 cm. How many 480 Mo |9 1 Do o Y sy a1 @\Tg’éﬂ
cubes have only one face coloured ? ey TTUT & 7T e S E\rﬂ'ﬁ w ER
A 8 (face) & &0l 9
B) 24 A —8
©rT6 B) 24
(C) 16
(D) 54 . M) 54
88.  Adieis thrown four times and its four different 88. U Urar 9R IR Fe vy aiR IGh IR i
positions are given below. Find the number s fargay 3 TARY 3 3 % Bl W
on the face opposite to 3. ' TR €
R -1 37 g )
@ 2 ‘ W 2 o\ ¢
B) 1 (B) Q
© 4 i
(D) 6 . : _
89. Three positions of dice are given below. The Eaksict Fee Tt % (g

sum of the number of dots on the opposite
faces is 7. If all of them have odd number of
dots on their bottom face, then what wou
be the total number of dots on the top £

O

ﬁ(facc)ﬁﬁ@ﬁﬁmwaﬁm%laﬁ
Wl R A ER (face) 4R o @
mmﬁaﬁmﬁmﬁaﬁﬁﬁﬁgﬁﬁ

these dice? W& H G Ry Rl
% & % @ &
A 12 (A) 12 |
B) 6 B) 6
©) 4 ©) 4
©) 10 | ™) 10
¥ F1 % o1 91 / SPACE FOR ROUGH WORK
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90. Choose the one which is different from the
others —
(A) 263
B) HI.
(C) 383
(D) 551

91. 'The mirror is placed in front of the clock. The
clock shows time 5:40. What will be its
reflection in the mirror?
(A) 620
B) .5:40
(C)  6:40

D) 820

92. Choose the correct alternative figure in which

figure (X) is embedded :
|
(X)

90.

o e g < A el e & foe 81—

(A) 263
@) 111
©€) 383
D) 551

91.

92,

w N| QO

» N a2\
é .

D)

(D)

%@a@r%mﬁ@mr@,maﬁwﬁ_

5:40 1 GEG T, A I { 3§ T H
(B) 540

wfefda @ gem 7

A) 620 -

(C) 6:40

®) 820 @ |
TE T ﬁw@% R fomt (X)
fifea & ¢ |

® N/

G w1 % fordl wg / SPACE FOR ROUGH WORK

8210/ME-JT/RCE-M

(28]

Set - A



Choosc the correct alternative figure in which 93 ag‘ g freen faz gifeg, e e (X)'

=t figure (X) is embedded : R Y
=2 _L
(X) | ' X
) 5 w | H
® | ¥ ® | YW
(©) Q_ | ©) Q_ O®
rey C)
*
(D). ‘{>< o @ |
04,

How many squares arc contained in the @Hﬁﬂ 7 fopa i e 7

following figure?

' &\QQ : @® 9

v Q\\ | ®B) 3
B) 8 | &
QO e

© 1 (C) 10

D) 6 ' , D) 6

T H1Y & Tl 3918 / SPACE FOR ROUGH WORK
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95. Choose the correct alternative box which can 05, ﬁmﬁm =1 (X) @ =1 5 Trfofaa feremedt #
be obtained by folding figure (X) given below: ¥ SR , '

W . | W

(&)

D)

9
Ba.
% ,
%

L8

96. Accident is related to carc&c inthe same 96. R e S, T & TR R, Wﬁ a@

way as Disease is re T =R §
(A) Doctor ‘Q ) fufercems @
(B) Smm&fQ  ®B) UFER
(C) Treatment _ ) (C) =N g
(D) Medicine ®O) wWEI

T %1 % T S8 / SPACE FOR ROUGH WORK
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97. What will be the next term in the following 97. Tr=fefas s vl § swen ue diF-a1 B
number series? 6. 5. 24, 25, 144 '
6, 5, 24, 25, 144 A) 175 i
Ay 175 B) 156
(B) 156 ©) 185
(&) A 185 D) 140
) 140 =
98. Which two numbers come next in the 08. frfaiaa e Suff I 3P BT B ]
following sequence ? 4, 6, 12, 14, 28, 30
4,.6, 12, 14, 28, 30 ) 60,64
R ®B) 60,62
Ely (C) 40,42
(C) 40,42 B
(D) None of the above D) Wﬁﬁﬁ@?ﬁé
99. Choose the set of numbers which is sumlarto 99. ﬁQEQFEW & B3 FE%W BT -
the given set: f‘amgaﬂ (63, 49, 45)
Givenset: (63,49,45)
(A) (81,63, 45) o @
(B) (72,40, 24) 0 24)
(C) (64,40, 28) 4 40, 28)
D) (72,48, 24) ) (72,48,24)
100. Insertamlssmg number from the following ® 9
alternatives : % frrifra freredt & A fes W W0
v 8§ [ 17133
8 | 1733
=t é Ji2| 5|29
2[5 |29 \
* 101131 7?
1013 ? $ '
. Q (A) 23
(A) ' \ A
) Q _ (B) 43
©) 33 (C) 33
) (D) Sk & T @ TE

None of the above

Tk & % ford 318 / SPACE FOR ROUGH WORK
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101. Insertamissing number from the following al-

101, freifea fomedt § @ wdt foren oiew R

ternatives : TH R TR :
24 | 144 1384 24 | 144|384
6 | 36 | ? 6 |36 2
2 1w _32" BTN KV E
k6 =16 1|6 |16
(A) 85 (A). 85 -
®B) 96 B) 96
(C) 80 (C) 80
D) 91
102. The sum of the income pf Abir and Bhuwan is 102. | ;m;ﬁz @q AT, A 3R gﬁs‘r
more than that of Chetan and Durgesh together. eﬁr m% % | 3ﬂEﬁI SRR

The sum of the income of Abir and Chetan is
the same as that of Bhuwan and Durgesh taken
together. Moreover Abir earns half as much as
the sum of the income of Bhuwan and Durgesh.

Whose income is highest ?

(B) Bhuwan : 0 ®) WA
© Chetan % ©) Iaqq
®) Durgesh D) gﬁg‘[

-103. Pointingtoa photograph a ells

~“She is the daughter of t on of my
father’s wife.” How i s

1 related to the
man?

(A) Daughter Q
o "‘Q&
Mothe

©)
(D) Niece

ﬁsa%ﬁsr(Photo)aﬁé@%gqﬁmﬁwﬁsﬁ
»mawﬁm"‘aaaﬁﬁiﬁwﬁﬁq?ﬁ
‘%Wﬁyﬁﬁﬁél”mwaﬁw
I9 Hfch T 7T WEE B |

@& i

B) &

(C) HI

D) wdt |/ st

T % ¥ ford w18 / SPACE FOR ROUGH WORK
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104. From the given alternatives, complete the 104, friterdt et @ Freferfan ater oft % fah

following letter series : - T R |
cb____becba__b__ cb____becba__b__

(A) ceca ' _ " (A) ceea

(B) aaac (B) aaac

(C) bbbc : - (C) bbbe

Oy—bbba A (b)y—bbba

105. Which is the most suitable Venn diagram to 105. @F-ar 3 fo e w 3 samfe aw,
represent antisocial elements, Pickpockets and qiftpenR 3R S A w I kel
Blackmailers ? 3 ] '
(A) @ (A)

o @ 2}

106. Inthe following figﬁre, if réctangle represents frtifra Tor & e R # eI §
Artists ; circle represents Players % g e A @ : ﬁlﬁﬁqﬁﬁﬁﬁ?ﬂ
trianele represents Doctor, then how m . ‘ Qi SR

B \ 3 <t gy P S A 4 Raendl @ A
fERll LN »
™\ ¢ 2/
30 1 N\3/s
Ay 27
®B) 30
€ 22 | © 22
D) 28 ®) 28

< %1 % fort W% / SPACE FOR ROUGH WORK
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107. Inthe following figure, the triangle represents 107, feifera forsr & f;(g\?{ BETAT el Rl

‘girls” ; the square represents ‘sports persons’ ‘Raeniat =1 3k g ‘TR ) e
e e s o Wk T s 8 e
ot i il e e 7 3 9

persons but not coaches ?

Aot ‘ AN

NSRS —
/ B(p\ E / (\E
Vo o

¢ | |
@ A » A
®B) B (B) B O®

©E © 5\0

D) D

108. Choose the correct alternative which 108.
represents the relationship between Smokers,

Non-smokers and Lawyers : Q

®) . ’\§<Q ®)
© %Q ) i (C>l . O
®) | iy ) @

Y& %Rl % il 9918 / SPACE FOR ROUGH WORK

aﬁwm%mmaﬁm%

O3

Al
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109. If 109. afe

() P+QmeansP is the husband of Q @) P+ Q% Haew P, QUi 7
(ﬁ) P + Q means P is the sister of Q ' @) P+Q® #aeH P,Q Co ETQ‘?T 2
(i) PxQmeansPis the son of Q g (O LT
then which of the following shows thatPis L .
the daughter of Q? ar aaré:q forafefaa § @ S cufar g 76 P, Q
» ‘ I 7T
(A) RxQ=+P |
| (A) RxQ=P
B) PSxQ el @
© Qe o 0§
®) SxQ+R:P e ‘ sop
110. If :
. . 110.
A + B means A is the brother of B A+B@ AdeE A, B H WE B
A —B means A is the mother of B OQ A-BHE TEEE A, BRIAT R
N :
A x B means A is the sister of B % AxBHETGAIA, BR T 8
which of the following mean& is the & 9 feremed g S qiY A, BHITMEIZ ]

maternal uncle of B? \

(A) A+C-B ’\ (A) A+C-B
.

®) A+C+I§\’\',Q ) A+C+B

(C) A-B+ (C) A-B+C |

D) A+CxB D) A+CxB

TF % % ford 5918 / SPACE FOR ROUGH WORK
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PART -1V (General \’Iathcmatics)

T~ IV (T TRE)
111. Four consecutive prime numbers are in  111. WWW A FHIT TEATY S AR 7 8, T

increasing order. The product of first three of Tget! mmgﬂﬁm 385 3R sifem i o O
them is‘385 and th‘e product of_last three is 1001 2 | o7: =70 T 51€ 7Ty T i
1001. Therefore, the largest number among ’
Hrese trnberwill be Ay 11
gl | ®) 13
®B) 13
<€ 17
<) 17 _
o) 19 | , D) 19
112. Ihe greatest number among 2%, 34, 43 and 112, 2% 340 430 gz 520 @&m
0 will be ‘ (A) ‘250
50 ‘
. (A) 2 «400
®) 3%
C
©) 4% . ’ © Q
® 5P |
113, If the number *381 is divisible by 11, then 4l +881 TEAT 11&1%[%:1@1% v * % W W
the value of * will be 0 e g
(A) 6 ‘ ‘ ‘s (A) 6
B) 5 % 5
© 1 ,<Q 1
iy Eﬂ:f :
114. ]hcva]ucofthcfo llowingew bk Rkl
500+ \/5—0” 009 " V900 +./0-09 +/0-000009
A) 303 3 (A) 303-30
(B) 3030.3 (B) 30303
(©) 3-0303 (C) 3-0303
D) 30-303 (D) 30-303

T T % fordl STE / SPACE FOR ROUGH WORK
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| ; 5 ‘ VRS
115. If\/1_5'=3-88,thenthevalueof\/'; willbe~ 115, afe 15 =3-88, @ \/; %1 A BT~

A). 163 | | A) 163
B 189 O ® 189
© 136 . S
oy s D) 129
116. Thevalueof - | o e
evalueo 116. \£1+{/59+\[16+§/7_-22+\/Z‘5

\jz1+ig9+\]16+-’</722+\/;1_§ 1 A BT @
will be— A 4 00

(A) 4 . _
® s ®.3 Q\ *
®) 8

117. If greatest common divisor (ged) ofa, bis 12
where a and b are positive integers such that
a>b > 12, then the least valueof aand b wi Q

T HETH OHIUFds 12 § 9 a, b
“quifes & T WER 16 a>b> 12, T
A T b 3 e T HA: B

be respectively
(A) 12,24 \Q @A) 12,24
®) 24,12 & B) 24,12
©) 24,36 \ 1 (©)24,36
D) 36,24 . M) 36,24
118. Theratio oftwon % andtheirged  118. @ TS H A 314 % TSR Ao Ho 4
is 4, then their L il Be 2, 1 S o Wo BN
(a) 12 Q i (A) 12
B) 16 B) 16
©) 24 : (C) 24
D). 48 A D) 48 .

T w1 % fordl W / SPACE FOR ROUGH WORK
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119. Iftheaverage of mnumbersben®andthatofn = 119, afé m Genat &1 g n2 & 71 n geaE &

numbers be m?, then the average of (m + n) aﬁ(:rﬁ m? &, @ (m + n) deas! @ 3 g
numbers will be .

_ (A) m+n
(A) m+n I :

{3\ mn
3 —h

“(B) mn
(©) m-n A
@ Wb (D) m+nb

120. The average of runs scored in 10 inningsof a  120. W% fhshex %1 10 wiieli I 1 i 60 2
cricketer is 60. How much should that 11 Ul & 9y e T S @ @

cricketer score in 11th innirigs so that the atud e 62 @
average increases to 62 ? ‘ ' '

W 8 | “ PN
- B) 82 ®)
© 80 .

@) 81 | 60(’” 4

121. The wage of an employee is slashed b 121, " afar el ASIGU A HHI R 20% T Rl
by the company. By how muc &l B | Al Sud q—a@qﬁ 94: ggeht q\—,@\ﬁ
wage of that employee shouldfie incheasc % TR A A, A S W 3 Brer yhmE
order to restore the waggs\as before it was ’ ’
S\\ FENy & gfg el ol 7 -

slashed ?

(A 27-5% Q‘ | A 275%
®) 25%\6’\'\' , | ®) 25%
(C) 225% (©) 22:5%
D) 20% | ®) 20%

T R % ferd 9718 / SPACE FOR ROUGH WORK
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122. The salary of Ais first increased by 10% then 122, afe A &1 ¥ 10% TG0 T~ 3R TR 10%
it was decreased by 10%, then the percentage - e T, A e =it ey i aRE
change in the salary will be~ 1 o
GUR A) 0%

By—%tess B 1%
(C) 1%more © 1% o5
(D) 2%less o) 2% i

2. Tl o BB 1, g e e 282 8
then the speed ef the van will be - fire 5 100 =@ g1 < = gl -
(A) 70 meters/minute (A) 70 Hi&X
(B) 80 meters/minute ®) 8’% fo
(C) 85 meters/minute ( | fae
(D). 88 meters/minute 88 e / fire

124, . T e T 240 T 20 7 T B R W

A person purchases 240 items at the ratb

of T9 per dozen. If he sells the itemsg, @

the rate of ¥ 1 per piece, then the
percentage will be—

A) 33%%

(B) 33;—;-% ,&’
N

©

® 3B3%

@i | aft 78 IR T 1 R g A R W
3 A Ee o R g -

rgloh
(A) .334/

(B) 33,—;—%

{C) 33 Lo

®) 3%

& w1 % fod w1 / SPACE FOR ROUGH WORK

8210/ME-JT/RCE-M
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125. A shopkeeper gets a profit equal to the selling
price of 15 items by selling 60 items, then the

profit percentage of the shopkeeper will be —

A 25%

125. T GHFGR H 6om§aﬁﬁma@ﬁ%
fersher w72t 3 arrer @ fireg e R | 99 gRR
1 T HfereT gm —

A
®B) 333%
©) 20%
D) 283—%

126. Two equal principal values are given as loans
respectively for 2 and 3 years at 8% per annum
simple interest. If the difference in their interest
is T 56, then the two principal values will be -

(A) T800
B) 700
(C) 560
D). 7350

127. In a bag, the ratio of 25 paise, 10 pdischaid
5 paise coinsis 1 : 2 : 3. If the sfun ot ail
' coinsis ¥ 30, then the num 5 coins

will be~ o\ \
(A) 50 Q‘
S ® 100 \é’\,\'

() 150
D) 200

(A) 25%
= -
®B) 33-3‘/0
(©) 20%
. 4.
(D) 28-,‘7-/{:
126. 3 7 % g 8%
ot T | afg o
, @ 38R oft =t uimr

X700

QQ(C) ¥ 560

(D) 350

127. ¥ #25 W 10 aw s R F st
U 1:2: 378 | 3R B e AW 2303,
A st Rm R dendf—
@A) 50

B) 100

(C) 150

- (D) 200

T %1d % f9@ 18 / SPACE FOR ROUGH WORK

8210/ME-JT/RCE-M
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128. ‘The ratio of income of Aand B is 5 -dandthe 128, A @1 B & 3 & 3G 5 43 AA OB

.rati?'ofef)isftrlllditu}rleof?a?iBbe3b:2.?h;g;e eyt N PP
saving o at the end ol the year be , i :
then the income of A will be — v ' X800 T E, A A # aﬂaﬁnﬁ

(A) 2,200 A) 2,200
—(B) T 2,000 (B) %2.000

(C) 1,800 (C) T1,800

D) 1,600 " | | O) 1,600
129. The ratio of three numbersis 2 : 3 : 4. If the.  129. i STt B T 2:3:4 8 170G 371%5 zwﬁ

sum of their squares is 1856, then the numbers 1 TR 1856 % & g gt —

will be - :

(A) 16,24,32
(A) 16,24,32
" | ., s Q)

®) 812,16 | ®). ()

(C) 12, 18, 24 (C) 12, 18,24 by -

(D) None of the above D) LGl
130. 0-000006723, when expressed in scientific ~ 130. 0-000 7 Yehee w0 § quia & A

notation, is — ‘ : x '

" (A) 6723 x 1078 - Q 6723 x 1075
: . i
B) 6723 x 1077 | _ Q(B) 67-23 x 1077
©) 6723 107¢ ® ) (C) 6723 x10°

") None ofthe above ’<Q . (D) SFEEA % %1 7

13/1r Theaverageofsmnumbemsx ¢ average ’131. @;maﬁwgﬁgaxggqﬁ@—cﬁqmaﬁm

?jr;:;en;ﬁfi?fs ;S h IQW age oF the: o y ¥ af dw 7= vl A o 27, d -
A) x= y+ (A) x=y+z

B) 2x= y+z B) 2x=y+tz

(C) x=2y+2z (©) x=2y+2z

(D) None of the above _ | (D) SIgw 7 QA T

T F & o So18 / SPACE FOR ROUGH WORK
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28
132. The sum of two numbers is = of the first - 132. amaﬁmaﬁwmq@ﬁmzm s E‘l@ﬁ

25
number. The second number is what percent of T, Ugel! e & fehaen ufoma @Tﬁ ?
thee first ? '
A 12% A 12%
B 4% — —(B— 4%
© 16% _ © 16%
O 18% D) 18%

133. The difference between the cost price and sale 133. fmft aeg % ;gq T a frerg q H W
price of an article is ?240 Iftheproﬁtls 120%, 22402 |afe e 12 2 a‘fﬁmn@@m N
the selling priceis— ' '

A) T1200 (A) T1200 O
S ®) 1400 ®) 214
(€) %1600
(D) 1650
134. S 4,

Q \9 |
Lines PQ and RS intersadt edeh other at point . WTQ”PQHWRS%@OUIHW%HW%I

O.If Z/POR : 4Ro 7then £POS is— afg ZPOR: ZROQ=5:7, @ /POS 2 -
@ Q @ 75 "

B) 105° \' @) 105°

(C) 115° . © 1us

D) 125°' | D) 125°

¥ %l % fordt STE / SPACE FOR ROUGH WORK
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135. If AB Il DE, ZBAC=35°and ZCDE=53°, 135. 3EAB Il DE, /BAC= 35° &R, ZCDE= 53°

then ZDCE is— : a1 ZDCE & —
. N
A G 5 AG5 "
C : C
D/)jan \E D/ )530 \E
(A 64° | _ ) 64°
®B) 72 _ B) 72°
(C) 92 ‘ ) . (C) 920 '
D) 102 D) 102°

136. Line ! intersects line m and n at points P and Q
respectively. Then corresponding angles are

136. @1 @3 m @1 n Q Fg W
Tifea et 2, A ™ 8

*
O(A) L1 T L7

(A «1 and /7 ' _
B Llandss & B) 17 L5
(©) 2 and £8 /<Q (C) s27 /8
D) /3 and £6 D) 3T L6
137. Find the length of the alti equ1lateral 137. WW@%&H@W@WW TRl Ts
triangle of side 3+/3, Q T 33 @t § 17 |
(A) 45cm (A) 4.5 Q..
B) 5Scm (B) 5 @4
(C©) 52cm ’ ' (C) 52 W
®») 54cm _ D) 54 WA

T wr % fof@l 5918 / SPACE FOR ROUGH WORK
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138. The cost of carpenting aroom 18 m long with . 138: 18 zﬁamémé FR T FeE fem & Hmd,
a carpet 75 cm ‘wide at ?4_-50 per meter is Freha faad 9e) 75 9. €, T450 wfa For
Z 810. The breadth of the room is — AR 7810 2 | = F1 9k 31a AR |
&) 7m (A) 7R
- ® 75m B) 75X
(€©) 8m (C) 8
D) 85m
139. The area of athombusis 150 cm? The length 139, 150 Q. #2 5|
of one of its diagonals is 10 cm. The length of 10%. 7. 2, di g
the other diagonal is - ,
(A) 25cm
B) 30cm
© 35cm 358, .
D) 40em . OQ (D) 40d. .
140. The value of . % 140, 99 96T
10000630 ¢, Q o -000063%0-4
0-0009 & ———
is \\ 0-0009
. 1
) -028 Q . 22
®) ““K%(& ®) 0028
(©) -00028% (©) -00028
(D) None ofthe above D) S H ?\T HIE T
< %@ % ford 397g / SPACE FOR ROUGH WORK
Set—A
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PART -V (General Hindi)
W - V (s fedh)
141, enfyd a0l 1 Fad § -

(A) zrazavi B) = 9

©) smea ®) A
142. T TS F1 IR0 A R — |
(A e " ®) TGE
(C) Tad D) F=dd
143. ﬁ%@ g efifem 7% 2
(G Q) ™
(©) v ’\9 (D) - FE
144, m@ oo T 36 g T §

(A) e @ @ e |
B) TXRTAE T |

| ’\\ (O IEmEl
L 2
, \’& | D) TFF GEE |
Q 1

46. 1 ¥ Brer & 93 e yER AL A E 7
A) 4 B) 5
(C) 6 @) 7

¥ w1 % fad srg / SPACE FOR ROUGH WORK
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147, FremaTE wEEE AR

A) = ® 7o
© @ ®) = |
148, ‘W e s Ay

(A FEE B) I

© @)
149.'%@3@@%@%—

A) g

(B) paey
© ggm
o @ 1A i | |
ﬁwm&aa@w%v ;e
\Q ) iR ®)

(A

d (C). TaHRT (D) SWIeRT
151 %ﬂwwﬁ?—mmm%ﬁ%mﬁ

O B 2
\&Q ' jjﬂ:ﬁm%: 7(B') Terd Tt

Q - © wEE ) ST e

Q »_ 152. ‘oo quelt g o HA-T AR T
| | ) wfeEEE ) e
© W (D) HEEE

T FT % T 578 / SPACE FOR ROUGH WORK
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RN 153. S & F-w oo R g 3 9
(A) wHa B) @R
(C) Frea@ (D) wweeH

154, o =mer A forr-Fodiwor <an v g 2 90

(A) 3@ Sre-areh v Y |

(B) § 3@ A el @ |

(C) s fremyes A @ d |

(D) & el T AR 9
155. ‘oo o 4@ af e

©) ﬁu%\(l}) ﬁrmm“m .
156. ‘gl ma%?

i O
Q)’ FHIRY TA
dO(C) HedI T
, \Q (D) YN FH f
& 157. ‘sFeawer § o wd Iuel Sa-ar g 9
\ @& & ®) afy |

’\y& e © aaa, ®

Q “ 158. "ufsreht’ # < Wl e T i —

W %1 % ford T8 / SPACE FOR ROUGH WORK

A) = B) %
(©) (D) =

' 8210/ME-JT/RCE-M [47] ] 1 Set — A




159, ‘i 71w Rt -a R 2

(A) i (B) weHld
©) R (D) deer
1@,'wm@aammaﬁ.mwa:
' fo adl forerea o = Rl -
A sy B) aifrges
©) ugeh (D) anfges
161, =FE R WA PG IR D -
(A) et B) arfrefr
(D) s

162. mr@ lﬁw%l

u%aﬁaaznaa%
) WW%

© wgEaTE

% 163. weg e avft R S
,<Q A) 9 o &

\ : B) Sum Fivda o @
’\ . © 39 A g &
,\\"’Q’ | D) 3 w3 i f
\Q 164. Yt ffy 3 frelt el § - |
~ (&) 3R - (B) e
© fd ©

W %[ % fordl 8 / SPACE FOR ROUGH WORK
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165. v =i 3 -
(A ol ot o
®) i i % dam auf
(©)  =oi = w1 el avi

'/mrmmwf

166. FRWOFa Ffewt w1 o R
(A) TP RN
- ® @l il w
(O W ¥ e )
D) SR W il
167, Prafea i 3w 4
(A) =T " @ =
© & @) T
168. 9 W & A o 3 9
‘ C®
- D) w=E
. A W e bl g 9

&
@ o
é ‘ ©

@) T

170. ‘R’ for v o1 wee 3 9
\,Q @) v

®) awh
© TH
(D) e

¥ %t % ford e /SPACE FOR ROUGH WORK

8210/ME-JT/RCE-M - [49)] - Sei-A



171, ‘i a1 foeim Treg B —
(A) TR
®B) @
©

Dy e
172. ‘gAY e T & -

(A TR
B) =

©) =wwmE |
(D) SR

173. ‘S@r-gar e 1
) g. o
(B)

S <

_ @ (A) @ it N ITER HH
30 ®) wH-ga g
& L ©) sitg % wR Y 9 S
. | 175. ‘dnee TG HiA-T1 6 —
?\’& (&) e
\Q @l (B) HEEw

(C) TR
D) %

D) o wE w

<o 1 % fordl 5g / SPACE FOR ROUGH WORK: -
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176.

mammfwaﬁmﬁmn%j

(A)  THIE FAT

8¢

B) € g
(C) TRt &

L 2

&

)
N
\

177.

i

- 180.

(C) Wi @R ¥ faw 7 frem
(D) Y e FE FH A G
w1 T e A ol g -
(A) UEEEr! HT '

(B) =M HAT

(€) 7Emd g

(D) e & s T

< %4 % frdl WTg /SPACE FOR ROUGH WORK

8210/ME-JT/RCE-M - - [51]
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181.

PART - VI (General English)

' P HIT — VI (VTR SI)
[ only want little in my tea.
A) m

B) a

182.

183.

184.

185.

(Cy—fow

(D) the

being ill, he went to school.

(A)  Asif

(B) Aslongas » '
(C) Inspiteof ' : @
(D) Although | 0

The feminine gender of bachelor is

(A) maid I \’
®) g e ! O

(C) lady

D) women ,
The plural of index is . OQ

L 2

(A)  index @
(B) indices

(C) indexis /@

said tobe a /ar

(D) indexs \\
: * . 5 or
One who is new tog pr8fession or trade is

(A) expe &
- (B) nom

(C) starter

(D) unexperienced .

T % % fordl 78 / SPACE FOR ROUGH WORK

8210/ME-JT/RCE-M , [52]
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186. The synonym of brief is
(A)  limited
B) detailed
(C) short
(D)  small
187. The antonym of expand is .

(A) conclude
(B) congest
(C) ‘convert
D) condense
188.  We must finish this job______ next week.

(A at ,
B) by | @
(C) since ‘ : - . 0
D) 1t ' | . C)
189. Choose the correct ahton_yrn for the word %\ *

(A) . Alien

(B) Nadir

(C) Opaque N . |
(D) Arrogant - OQ

L 2

190. Choose the correctly spelled word.
(A) Precced %
(B) Proceed Q
(C) Preeced i &
(D) Procide \'\

191. Choose the correct syn - f the word
“Fury”. L

(A) Anger &&
(B) Misery: Q
- (C) Pain '

(D) Anguish

% %1 % ford W / SPACE FOR ROUGH WORK
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192. They have repaired the road again.
The passive voice for this sentence would be :
(A) Theroad has been repaired again.
(B) - Someone has repaired the road again.
(C) Theroad is being repaired again.
(D) Theroad had been repaired again.
103-—The better the joke; the———1isthelaugh——
(A) loudest
(B) moreloud
(C) more louder
(D) louder
194. She (work) all day.
(Rewrite using present perfect form of the verb
_in bracket) '
(A)  Shehad been working all day.’ ‘
(B)  She had worked all day. : 0
(C) Shehas been working all day. . ()
(D) - Shehas worked all day. : ' - \ .
195: They (see) the accident when they
(wait) for the train. _ O%
(Rewrite using simple past/past .
progressive form of the verb in bracket).
(A) They saw the accident when they had
waited for the train. Q
(B) They saw the accident when they 0
waited for the train.
(C) They saw the accident w,
waiting for the train.
(D) They were seeingth@acc
they had waited fo \rain.
196. The principal read thg fepogt. - - _
' The passive voi $entence would be :

(A) Therepgtt read by the -
g
(B) Theréport was read by the Principal.
(C) Thereport will be read by the Principal.
(D) Thereport has been read by the
Principal.

T H % ol 378 / SPACE FOR ROUGH WORK

8210/ME-JT/RCE-M ' [54]
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197. They have painted the house.
The passive voice for this sentence would be :
(A) Thehouse has been painted by them.
(B) The house had been painted by them.
(C) Thehouse is painted by them.

e 5, O RS- KAPUSpE [ MO |
P)y—Fhenouse-was pamtea by them.

198. My brother said, “I am going to Delhi.”
The indirect narration for this sentence would

be: : .
(A) My brother said he will be going to
(B) My brother said that he will go to Delhi. ;
(C) My brother said that he is going to : @
" Delhi. F 0
(D) My brother said that he was going to ()
Delhi. | ‘ 1L

199. “Ihave been waiting for anhour”, complained = Q -
Ram. 0

The indirect narration for this sentence would
be:

(A) Ram complained that he had been waiting. - Q
: foranhour. 0

L 2

(B) Ramcomplained thathe has been waiting
- foramhour. - - ‘%
(C) Ram complained that he was @ :
~anhour. el & ‘
(D) Ram complained thathe \itin oran.
hour.” e

200. There weren’t Wbers in the
market.

Fill up the blankeyyi &ct word.
@) any

(B) no
(C) some
D) few

T FE % Tl sg / SPACE FOR ROUGH WORK.
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| | | SET - A

I eifR w@ W WA . 3w atfererem 3t : 200

Time for making answers : 3 Hours Maximum Marks : 200
e :

1. o g § 200 W ¥ 1 v vw 1w W 3 | W e ww w0y s #

0. @ v e ¥ fm owm ¥ g owm (1) () se s (i) TS w99 1- 50,
Y (2) TR H W TS 51— 80 W, (3) @ wHR g 81— 110, wWmT
(4) = TR 11— 140, s (5) W B 141— 180, m (6) et 181 200. -

3. wﬁ%wzﬁﬂéOMRm—m(wsﬁz)mm

%, Waﬁw%g1mmﬁa%mw%ammm wqt1/4amwé

5, 'wﬁm%%@aﬁmaﬁm‘@' i AR 2

MR Sti-wssh (=0 ¥fie) &0 & F3 @@y 4 W Ed T we

I Igu Hig-u fieEe o us =E] 98 G RESIA

TR,
Notes : %

1. This question booklet. co 0“questions. Each question carries 1 mark Answer all
questions.

2. = This question bookle;§ ists of parts namely :
Part (1) (i) Gene les (ii) General Knowledge of State 1-50, Part (2) General

knowledge ter 51= 80, Part (3) General Mental Aptitude 81-110, Part
4) Gener@amatlcs 111-140, Part (5) General Hindi 141— 180, Part (6) General-
English 181%,200

Indicate your answers on the OMR Answer-Sheet provided.

1 mark is- allotted for each correct answer and 1/4 mark will be deducted for each wrong
‘Answer. -

5. Use of any type of calculator or>|o‘g table and mobile phone is prohibited.

6.  While using Answer-Sheet care sheuld be taken so that the Answer-Sheet does not get
torn or spoiled due to folds and wrinkles.
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